Project 2:
Random Walk

A sailor should go toward his ship from a jetty. The jetty is 50 paces long and 20 wide. At first the sailor places in the middle of the jetty, at the quay-end and toward the ship, as shown in the following figure. Suppose at every step he has a 60% chance of lurching toward the ship, but a 20% chance of lurching to the left or right (he manages always to be facing the ship). If he reaches the ship-end of the jetty, he succeeds. The problem is to simulate his progress along the jetty, and to estimate his chance of getting to the ship without falling into the sea. To do this correctly, we must simulate one random walk along the jetty, find out weather or not he reaches the ship, and then repeat this simulation 1000 times, say. The proportion of simulations that end with the sailor safely in the ship will be an estimate of his chances of making it to the ship. For a given walk we assume that if he has not either reached the ship or fallen into the sea after, say, 10000 steps, he dies of thirst on the jetty.
To represent the jetty, we set up co-ordinates so that the x-axis runs along the middle of the jetty with the origin at the quay-end. x and y are measured in steps. The sailor starts his walk at the origin each time. 

(1) Draw the flowchart,

(2) Write the pseudocode,
(3) Write the FORTRAN code and run it.
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